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TEST {iii}
PART A ;: GENERAL ENGINEERING
(CIVIL AND STRUCTURAL)
101. A lnear [orce-deformation relation is|106. The top diameter, bottom diameter and the

obtained in materials height of the steel mould used for slump test
{A) having glastic stress-strain property are
(B) having plastic stress-atrain property (A} 10¢m, 20 cm, 30 ¢m
{C} Follewing Hooke's law (B7 10 e, %0 om, 20 em
(D} which are rigid elastic materials (©) 20 em. 10 cm, 30 cm

102. The property of a matertat by which it can be

(Tt} 20 em, 30 cm, 10 em
beaten or rolled into plates, is called

{A) malleahility 197. The early high strength of rapid hardening
(B} ductility cernent is due to its
(C) plaskicity (A) incressed content of gypsum
(D) elasticity (B) burning at high temperature
103. in a cantilever beam subjected te general (0 merenased content of cernent
loading, the maximum bending moment 13 at (D] higher cantent of Lricalcinm
(A} fized end |
(B) freeend 108. Which of the beams given in the following
{C) mid-span Figs. is 4 determinate beam ?

(D) guarter-span

A E .
. b, ) (A) T I
104, ©d
- q B
{3 -ﬁa T
Moment of inertiz of rectangular section

shown in Fig. sbout its horizontal centroidal

gxis 18 () A"Lj EE
(A db¥12 ({B) db%3 -
(€ bddiz (D) ba%3 1 c. B
. Dy AZ
105. Ratin of length of column to the mimimum T T

radius of gyration of the crose-sectional area

of the eolumn is kmown a5 ‘1 108, The efective slenderness ratic of a cantilever

{A Slenderness ratio column is

(B) Buckling ratio (&) 05Lfr (B) Lfr
(C) Crippling ratic

(D) Compressive ratio W J2Lir Ly 2L
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i Jar beam of 2
110. If the area of tension reinforcement provided j 117. A T-beam hr:ha:ves as a rectangu ar wa
| less than that required for a bajanced width equal ta its flange if it neulral axis
13
section, then the RCG beam is called

(A} fails within the llange
(A) over reinforced

nforced ' (B) falls betow the Nlange
P} neutral rei ‘
im under reinforced () coineides with the geometrical centre of
(D} bottom reinforced the beam |
- (DY falls below the centroidal axis of the
111. Workability of concrete for a given wakes bearn
content is good if the sggregates are | |
{A) angular ggregates 118, If 1, is the nominal shear gtress, 118 jilemgn
(B} flaky cggregatcs shear strength of concrete and T, may ¥ the

(C) rounded aggregates maximurm design shear strength of concrete,

(D) irregular aggregates which of the following stalernents is correct ?
* ' | section i to be designed
145 Generally, strength of concrete is congidered (A TF 7, > T, max

negligible/very low in for shear. - .

{A) Compression  (B) Tension By T, 3 T g TUMMOD gar

{C} Fatigue (D) None of the above reinfo t is to be provided,

. . - I r t
113. As the cement sets and hardens, it generates (C} Ift, <1, mimmom shear reinforcemen
. heat. Thia is called is to e provided.

{A) Heat of hydralion
{8) Latent heat -
{C) Heat of vaporisation
(D) Semsible heat

(DY 1f v, > T, minimum shear reinforcament
is to be pruvuiad :

119. 1n limii state of collapse  for  direct

) compression, the magimum axial chrpressive
114, In concrete, while hand mixing is adopted,

be added i stradn in concrete 18

axcess cement to dded is | _
(A) 4% (B) 10% (&) 0002 (B) 0003
0 1% D} 2% @) 00085 D) 0004

116, For censtructing road pavements, the t¥Pe of | oy g1 ction factor C, to lond carryicg cepacity
cement generally used is

for & long column of effective Jength L, and
{A) ordinary Portland cement

width b is applied as cbtained from following
{B} rapid hardening cement voression
() low heat cernent : Ny L
(D) blast furnace elag cement (A) 1- E..;_'h (B) 1:85- T
116, A very comlortable type of stair for usage i L 5 L,
o {A) straight (B) dog legged (€ 126- % ) 15~ o
() open newel (D) dreular

P L I PR g1 4 Iﬂﬁﬂi*ﬁfﬂm
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i2l. The standard 5.day BOD at 20°C, when| jon «Pgiscon’s catio” is defined as the ratio of
mm?amd gl oot {A) lateral gtrein to linear strain
il ) (B) linear strain te lateral strain
Ll (s {C) lateral stress to linear stress
122, The global warming i8 caused mainly by (D)) linear stresa to lateral stress
(&) NOyx (B} S0y 128, IF*A" is the area of cross-section and T is the
2 (L ekt a1 i
128. The ratio of the quantity of water stored in formula
the root zone of the crops to the quantity of Ay r=1/A (B} 1= If&
:Sater actually delivered in the field is known © reA/l ;;D} e
{A) water use efficiency 128. Strain energy due to exial deformation ia
(BY water t;unve:.rame efficency given by,
(¢ : regultant stress
(C) water zpplication efficiency P axial load
{D) waler storage efficiency A : deformation
124, For unlined canals, the frechoard is measured EE::E::;:]“ Sl
from the -
(A} fall supply level to top of the bank oo B30 Bt (B 5
{B) top of the bank to bed of the canal (C) o%2E - (D % Pa

" (€) ull supply level to Sop of the dawel 120, The meximum shear force in a simply
{D) None of the sbove 3 supported beam: of span L, subjected to a

. central point load, W is given by the following
126, The ruling minimum radivs of the curve for expresgion :

ruling design speed V misec, reefficient of - '
friction T, acceleration due Lo gravity g misec? (A} = (B) WL
and superelevation ¢ is given by

) WL D) WLE
A Vo-Ng (B) Vf-elg 42 /

30 kN

Lo £l
126. Caunber in the road is provided for 131 AI« B
(A) counteracting the centrifugal foree : e _ L ' ‘
(B effective digi For simpiy supported beam shown in Fig., the
SRR CRnne magnitude of vertical reaction at B is
(C) having proper sight distance (4} 20N (B) 18N

(I} evoiding overturning 10 IBEN (D) 1) kN

() VferDg D) Viio + ) 2g
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133.

134,

135,

136.

137.

188.
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Atieisa

fA} tension member

{B) compression member
{C) flexura) member

{D)} torsion member

The slenderness ratio of lacing bars should
nof exceed

{A) 120
{€) 180

(B} 143
{D} 100

The minimum elear cover (in mmn) for the
izain reinforcernent in columon, aceording to
IS : 456-2004) is

(Al 20
{(C) 40

3 25
(Dy 50

The diameter of lonpitudinal bars of a RCC
column shouid never be less than

(A) & mm (B) 8mm
(C} 10 mm (12 mm

In an RCC section of effective depth ', if | -

vertical stirraps are provided to resist shear,

« their maximum sparing ‘measured along the

axis of the member as per IS : 456-2000
should nof excead '

(A) 0254
£ oTed

{B) 0604
Oy 1-00d -

For 2 continuows slab of 3 m x 3-5 m size, the
minimum overall depth of slab to satisfy
vertical deflection limit is

(A} Sem (B) T-5em
(C) em (1) 15¢m

As per 15 ; 800, the facter of safety adopied
with respect to the yield stress of steels is

(A} 145 B 15

(€ 167 (D) 240

138.

140.

141.

142,

kdd.

144.

U {A) 180

145.

The size of a nivet 15 idenlified by
{A) diameter of shank

(B diameter of head

{C} length of shank

{0} shape of head

Horizontal stilfeners are needed in plate
girders if the thickness of web is less than

(A} 6mm (B) Depthf200

{C) Epam"t_iﬂﬂ (D) Flange thickness

Permizaible streas ma:,r-also be known as
(A} ultimate stress

(B} working stress

(C) Timit stress

{D) yield streas

The maximum permissible stress for power
driven field rivet in bearing on rivet is'

(A) 100 Nmm® (B} 250 Nfmm®

© 270Nmm® (D) 200 Nmm?
Bearing stiffeners are designed as
{A) beams {B) beam-ties
() ties (D) column

The maximum allowabie slenderness ratio for
members carrying compressive load due to
wind and seismic force only 1s

{81 250
() 350 (DY 406
The throat in & fllat weld is

{4} large side of the triangle of the fillet
(B} hypotenuse of the trizngle of the fillet
() amaller zide of the triangle of the fillet

(D} perpendicular distance from the root to
the hypotenusa

RSN . T S —
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146,

147,

148,

14%.

160.

SSC JE General Engineering Civil Question Paper with Answer Key

The correction to be applied to each 30 m
chain for a line measurement along a slope
ofBis -

(A) 30(l-cos8  (B) 30(1-sin®)

(C) 30{1-tan®® (D} 30{1-cot

Narrowly spaced contour lines on a map
shows that the area is

(&) Flat

(B} Steeply sloped
{C) Verticalchff

(D) Overhang cliff

The length of the tangent of a curve whose
radius is K and the angle of deflection A1

& Rm% (8) 2Rain%
@ ERtan% D) Rsin%

Radiation, Intersection and Resection are
(A} Compass Eurv-e].rirlg"l'bchniquﬂﬂ

(B Chain Surveying Techniques

(C) Levelling Techruques

{D) Plane Table Surveying Technigues

Which of the following statementa in respect
of & map A having seale 1 : 1000 and another
map B baving scale 1 : 5000 is troe ?

{A) Map A is a large scale map compared to
map B.

(B} Map B is a large scale map compared to
map &

{C) Map B is » more detailed map compared
tomap A

(D] Hone of the above

. The ratio

151. A staff reading taken on a point whose

elevation is to be determined as a change
point is called '

(A} foresight reading

(B) backsight reading
(C} intermediate sight
{I} long sight

. Clay is generally

(A) ocohesive

(B) permeable

{1 having large particle size
(D1 Mone of the abave

Liquid Lt — Water oontent
Flasticty index
50i] mass iz called

iA} Liguidity index

for a

(87 Shrinkage ratio
(') Consistency index
{D} Toughoess index

. If whole circle bearing ef a line is 210° 07 0,

ita value in quadrantal bearing system is
{A) 830°0°0°W  (By N30*0'0"E

(C) 530°0¥H"E (D) N3P o'w

. The magnetic declivation i3 the difference

betwaen

{A) True Meridian and False Meridian

(B) False Meridian and True Meridian

{C) True Meridian and Magnetic Meridian
(D) Magnetic Meridian and Falee Meridian
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L3,

187,

153‘

1. ﬁgi

lmf

161.
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To prevent segregation, the maximum height
for placing concrete, is

(A} 100 em {B} 125cm
{C} 150 cm D) 20dom
Di-calcium silicate (C.5)

{A) hydrates rapidly

(B) generates less heat of hydration

{C} hardens rapidiy

(I} has les= resistance bo sulphate attack

Separation of coarse aggregates from concrete
during transportation, is known as

{A) bleeding
{C) segregation

(B} creeping
It} evaporation

The resistance of an aggregate to wear is

. known as

(Al iﬁpactvalue

{B) abrasion resistance
(C} shear resistance
(D) crushing resistance

Il finepess medulus of a-sand 58 25, it is
graded as.

{A) very fine sand
(B) fine sand

(C) medium sand
(I coarse sand

Water-cement retio is measured
of water and cement used per cubic melre of
concrete.

(&) volume by volume

{B) weight by weight

. {€) weight by volume

(D) volume by weight

163.

1464,

185.

18

162.

For batching 1 : 2 : 4 concrete mix by volume
the ingredients required per bag (50 kg of
ement are

(A} 100 litres of fine aggregate : 140 litres of
CORrSe AggETagate

(B) 100 kg of fine aggregate : 200 kg of
coarue aggiegate

(C) 70 kg of fine agprepate | 140 ky of coarse
aggreyate

{D) 70 litres of fine aggregate : 140 litres of
Coarse agEregate

Bulling is

(A} increpse in wolume of sand due to
moisture which keeps sand particles
apart

{B) increase in density of sand due to
impurities like clay, organic matter

{C) ramming of sand so that it occupies
minimum, volume

i3} compacting of sand

‘The goncrete cubea are prepared, cured and
tested according to Indian Standards code
nurmber

[4) IS: 515
(Cy IS:517

(BY I5:b16
(0 15-:518

An aggregate 13 aaid to be faky, il ita least
dimenaion is leas than

L

(A) — mean dimension

[

Bl — dimension

) mean dinmension

-

e | ma dm| e o3

{m mean diarneter

The fineness of cement can be found out by
gieve analysis using 15 sieve number -

(A) 20 (B} 10
9 m &
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The dischm:ge through a V-notch varies
(A} proportional to head (H}
(B) inversely proportional to angle &

(e |::ru:ul:m:un‘.imw.lItn:lll-l‘m

168.

(DM inversely proportional to tan 2

The volume of voids to the total volume of soil
15 known aa

(A) porosiby
(B} word ratig
(Ch air ratio

. (I} air ¢content

169,

174,

171.

172

A fundamental equation of void ralio (),

specific gravity {G), water content (W) and
the degree of satoration {Sp] Is

iA) e=5§"’-@ B W= G
P sP
) G= . D g =X
SP PG

Manoineter is a device used for measuring
(A) Velocity (B} Pressure
() Density (D} Discharge -

Capill:irity is due to

L surface tension

11, eohesion

1. viscosity

IV. vapour pressure

Y. weight density of liquid

(A} 11, TH (B) II
() 1 D) ILULY

Flow of water through a passage under
atmospheric pressure is called

(A} Pipe flow

(B} Uniform flow

(C} Open channel flow
(D) Non-usiform fow

173.

174,

175,

176.

179.

178,

‘Each  term of the Bernoulli- egualion

represents
{A) encrgy per unit weight

(B} energy per unit mass

(C) encrgy per unit volume

(D) specific energy

Pressure in terms of metros of oil (specific
gravity = 0-8) equivalent to 4-5 m of water is
{A) 405
{Cy 36

(B} 50
(D) 0298

Typically, & hydroelectric plant will have
follewing hydraulic machine :

(A} Hydraulic Turbine

(B} Mydraulic Pump

(C) Electric Motor

(D} MNone of th:e above

Darcy - Weishach equation to caleulate the
head loss due to Fction for fiow throngh
pipes is appticable when the flow through the
pipe can be

(Al laminar only

(B) turbulent only

(C) both laminar and turbulent

(D) suberitical Aow '

The dimension for Angular velocity is
& T @ T
© T @ T

Which of the following flow constants does
not have any unit ?

(A) Chezy'sC

(B} Mamning’s N

{C) Both Chezy's C and Manning's N
(I} Mone of the abave
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179, Th_e damp ‘prmf m.m.e {D'P'C.'} of uniform | 185. The value of the property at the end of its
.thwknesa in a building having walls of useful life (without being dismantled) is
different widths is measured in Known as
4 3
(AY m (B} m (A} SBalvage value
.
{C) m M m {B} Scrap value
180, The plan of & building is in the form of a (C} Book value
rectangle with centre line dimensions of the (D) Junk val
cuter walls as 10-3 m = 153 m. The thickness alue
of the walls in superstructure is -3 m. Then _
its carpet ared is 188. The multiplving constant for the tacheometer
, is, generally, kept as
(A} 150 m (B 15759 m
. {A) 100 (B) 20
(C) 16536 m* (D} 170 m? '
() 40 {Dv 60
181. Pick up the item of work rof included in the
plinth area estimate. 187, The fundamental principle of surveying is to
{4} Wall thickness wark from the |
(B} Room area {AY whole to part )
(C} Versndah arca {B) part {0 whole .
' (D) Courtyard area {C) Jower level to higher level
182, One brick thickness of wall is roughly equal D) higher level to lower level
1) .
. . 188. Volume by Tr idal F i
4 10 em B 150 _ y Trapezoi ormulz Method is
determined by the formula
) 20 cm (D) 30cm
{A) D ﬂ:.ﬁ._ﬂ
+ AE +A +A+.L A
. ] b i 8 n-1
183, A work costing T 20,000 is termed o3
(A) Petlywork (B} M A +A '
work. () Minor work (B) u{—_—l St Ay A HA ...An_l}
(C} Mujor work - {D) Minor project
ﬁﬂ + Al
184, The denaity of cement is taken io be © D=+ A +A 4 A 4L A
(A) 1000kefm® (B 1250 ky® A <A
D) DI "o & o a '
€ Mdbkge® (D) 1800 kom® { PR TR rAg At A,
MR 211 4/Pansa T4 EIMA S rour sl sl r carmmes s — b S F
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189. The annual instalment () of the sinking | 184, Strength based classification of bricks is

fund (5) over n years, at i rate of interest may madc an the basis of
be caleulated from the fermula (A} T3: 3101 iR I5:3102
(A} 1=8if 1+ (Cy 15 3495 D) [S: 3496
B) I=5t1+ i}n_l‘; i 196, In paints, methylated spirit, naphtha and
i ed
{cj I = S {1 " i)m'lf {1 + i.} t-lll‘]:l-l.?nt.lnl: A US ag |
{A) Bagn (B} Binder

. L |
(D I=8if{1+0" {5y Solvent {B} Extender

190, Mild steel uged in ROC structures conforms to | 196, Coarse sand has & fineness modulus in the

range of
(A) 15:432 (B} 15:1566 )
{A) 2224 (B} 24-286
{Ch I3:1736 (L 152062
) 2628 {Dy 28-22

191, Which of the following types of lime is vsed
for plastering and white washing ? 197. Under heat and pressure, granite can

t form inko
(A) Quick lime ramsinm L

. {A) quartzife _{B} marhle
(B) Sleked lime {C) slate i gneiss
() Hydraolic ime )
{} Fat lime 198. Alumimiem is anodized to protect it from
: o _ weathering effect by forming & surface coat of
192. Which of the following acts as retarder for the (A) Aluminium carbide

conerete ?
{4) Calcium chloride
(B) Calcium lignosulphonate’

(B} Aluminium borats

(C) Aluminium axide

{0 BRed lead
(0} Caleium stearate

199, Quartzite and marhle are by nature
(A} wvolcanic (B} plutonic

183. identify the rorong statement. {C) sedimentary (D} metamorphic
{A) Bulking ef sand can go up to §06%.

(0} Aluminium powder

20dp, Most accurate method of estimation i3 based

{B) Bulking of sand is maximum at 4-6% on
moisture content. {A) Building cost index estimate
(C} Bulking of sand is considered in weigh (B) Plinth area estimate
batching of concrete mix.
() Detailed eatimate
(D) Bulking of sand oceurs due to free _
moisture film formation over sand prain. (D} Cube rate estimate

Question Paper Solution | Answer key | Answer Sheet of SSC Junior Engineer Recruitment
Previous year exam 2014 Solved Question paper

101.C 102.A 103.A 104.C 105.A 106.A 107.D 108.A 109.D 110.C

111.C 112.C 113.A 114B 115B 116.C 117.A 118.C 119.A 120.C

121.B 122.C 123.C 124.A 125.C 126.B 127.A 128.B 129.D 130.A

data:text/html;charset=utf-8,%3Ch3%20class %3D %22post-title%20entry-title%22%20style%3D % 22margin%3A%200.75em %200px %200px%3B%20positio...  10/11



7/20/2015

131.D
141.B
151.A
161.B
171.C
181.D
191.D

data:text/html;charset=utf-8,%3Ch3%20class%3D %22post-title%20entry-title%22%20style%3D % 22margin%3A%200.75em %200px %200px %3B %20positio. . .

132.A
142.C
152.A
162.B
172.C

182.C
192.B

SSC JE General Engineering Civil Question Paper with Answer Key

133.B 134.C 135D 136.C 137.B 138.C 139.A 140.B

143.0 144B 145D 146.A 147.B 148.A 149.D 150.A

153.C 154.A 155.C 156.A 157.B 1588.C 159.B 160.B

163.A 164.B 165.C 166.C 167.C 168.A 169.A 170.B

173.A 174B 175.A 176.C 177.B 178B 179.C 180.A
183.A 184.C 185A 186.A 187.A 188.D 189.A 190.A
193.C 194B 195.C 196.D 197.D 198.C 199.D 200.C

111



